[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

Ratio
P
N

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__ Global__CMSSW_ckfnocut3_RECO
Efficiend —— pom_v0001_R000000001_ Global__CMSSW_mknocut3_RECO

N 0.
20.09 : . : . :
") . . . . .
R R S R
> : : : : :
2 : : : : :
R 11 A i R A A A
= : : : :
O SIAES SLLE S
o : : : :
0.05ffft-+ oy voedeeereedeoneee bl
0.0l oo LA
0.0 THHEl- oo I

E 811 1)

u ik

0
10 20 30
TP vert z (cm)

Ratio

T T T T
2 —

15

|
w
o

[ Efficiency vs. sim PV z |
~ 0.05
> S W
00.045F -+ preyees AR Fe AR
S : : : :
T A
%.035F - SRR R E ERRRRRRR AR
P b : : : :
c0.03f------ A AR AR
o : : : :
8.025
]
0.02
0.015
0.01
0.005

0
1.4

Ratio

1.2

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


